A reproducibility after 14 days incubation using n=17 classifications

97.3

100
89" 94 ---95%
80
S
S = =
> c (5]
£60 o} g
3 5 8
S g 9
T 40 = o
Q — 8
a 15} =
1] o ]
20 1 ) 2
[0}
0- .
o Mean Median Mode
B reproducibility heatmaps t t
9 0.2 9 01 1.1 9 0.1 1.3
c
-2 8 05 53 8{0.1 01 01 01 02 02 03 88 0.1 8103 02 02 02 02 01 94
>
B 7 01 11 50 05 7401 01 01 01 02 06 67 03 7402 01 01 01 01 03 68 0.1
[}
3 6 02 15 76 1.1 6 01 05 73 05 02 64 0.1 03 71 03 02 0.1
j
3 5 03 15 75 16 0.1 5 01 02 04 67 05 02 02 5 01 02 6.8 04 01 02
C
8 4 03 18 66 16 0.1 4401 01 05 64 04 01 01 041 4 0.1 03 64 02 0.1 041
=
,&3 34103 22 97 18 03 37101 0.7m0.5 0.2 0.1 041 34 0.1 0.5m0.3 01 0.2
c
% 2427 23 03 0.1 0.1 2105 05 0.1 0.1 0.2
>
1 26 03 0.1 02 1 05 0.1 02 03
1 2 3 4 5 6 7 8 9 1 2 3 4 5 6 7 8 9 1 2 3 4 5 6 7 8 9
volunteer consensus dilution
C accuracy after 14 days incubation using n=17 classifications
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Expert dilution




